
 

 

 

 

 

 

 

𝑦 = √𝑥.

𝑦 = √(𝑥 · 4 · 106)

𝑞к =
30000

4·4000
= 1,875
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mпос = mпуст + mгруза + mост

mпуст

mгруза

mост

Δ = Δвзл − Δпос

Δ = 0,26 − 0,23 = 0,03м

mпуст + mгруза

Δбез топлива =

mпуст + mгруза

Δбез топлива
=

(100 + 20)

0,2
= 600 =

mвзл

0,26
.

mвзл = 600х0,26 = 156т.

mвзл = mпуст + mгруза + mтопл,

mтопл = mвзл − mпуст − mгруза,

mтопл = 156 − 100 − 20 = 36т.
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𝑥т̅ = 25%

∆𝑥т =
2т ∙ 4м

80т + 2т
= 0,098 м

∆𝑥̅т =
∆𝑥т

𝑏САХ
=

0,098 м

5,3 м
∙ 100% = 1,8 %

𝑥̅т нов = 𝑥т̅ + ∆𝑥̅т = 25% + 1,8% = 26,8%



 

 

p = p0

T + T0

2T0

∆p = p0

∆T

2T0
, ∆T = T2 − T1 

mg = ∆pS

m =
p0∆T

2T0S
= 171кг. 

 



 

πd2

4

∆𝑡 ∆m = ρ
πd2

4
v∆t

∆p = ρ
πd2

4
v2∆t ∆𝑊 = ρ

πd2

8
v3∆t

∆p

∆t
= Mg

v =
2

d
√

Mg

πρ
≈ 3,5м/c

N =
∆W

∆t

N = ρ
πd2

8
v3 ≈ 1077Вт


